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Part 1 - Non-capital losses (continued)

Deduct:
Other adjustments (includes adjustments for an acquisition of CONrol) ...............oo.ooooovvoroovoo 150 I 1,270
Section 8U S Ad)UStIe NS HORTorgIVe N am O URS 140 j
Non-capital losses of previous tax years applied in the current tax year
Enteramotntikionlinei33fiofithe 2 retmnt = SEEt SELEEREE S Sl il Sl e e 130 | k
Current and previous year non-capital losses applied against current-year taxable dividends subject
tolPartiiVitaxi(notefa) e i i et L e 135 1 |
Subtotal (total of amounts i to 1) 1,270 p (152708 K
Non-capital losses before any request for a carryback (amount J minus amount K) 348 L

Deduct - Request to carry back non-capital loss to:

First previous tax year to reduce taxable iNCOME ................cvvevvveeeeeeeeeee s eeeee e s seeeeeeen 1901 m
n
o
p
q
r
Total of requests to carry back non-capital losses to previous tax years (total of amounts m to r) B M
Closing balance of non-capital losses to be carried forward to future tax years (amount L minus amount M) m 348 N

Note 3: Amount | is the total of lines 330 and 335 from Schedule 3, Dividends Received, Taxable Dividends Paid, and Part |V Tax Calculation.

—Part 2 - Capital Ic

Continuity of capital losses and request for a carryback

Capltallosses atithe end.of the previous tax year o sl e e 1200 a
Capital losses transferred on an amalgamation or on the wind-up of a subsidiary corporation ............. 205 18 b
Subtotal (amount a plus amount b) | 3 A
Deduct:
Other adjustments (includes adjustments for an acquisition of CONtrol) ..................ooocoovvoooioooo 1250 G
Section 80 — Adjustments fOr fOrGIVEN @MOUNES .............c.ooevveeeeereereeeeeeoe oo eeeeeeeeeeeeeeeeees s e eees s 240 | d
Subtotal (amount ¢ plus amount d) » B
Subtotal (amount A minus amount B) C
Add: Current-year capital loss (from the calculation on Schedule 6, Summary of Dispositions of Capital Property) ............ccoeun.... D
Unused non-capital losses that expired in the tax year (NOte 4) ..............o..ooooovoooeooeoooeoo e
Allowable business investment losses (ABILs) that expired as non-capital losses at the end of the
previousitaxiyear (note 5t i vl iiaia s at Gl e I R S f

Subtotal (total of amounts C to E)

Note
If there has been an amalgamation or a wind-up of a subsidiary, do a separate calculation of the ABIL expired as non-capital loss for each predecessor or
subsidiary corporation. Add all these amounts and enter the total on line 220 above.

Note 4: If the loss was incurred in a tax year ending after March 22, 2004, determine the amount of the loss from the 11th previous tax year and enter the part of that
loss that was not used in previous years and the current year on line e.

Note 5: If the ABILs were incurred in a tax year ending after March 22, 2004, enter the amount of the ABILs from the 11th previous tax year. Enter the full amount on
line f.
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